
 

 

 
 

 
 

 

             www.arnos.gr           …Πράξεις Παιδείας! 

 

 

 

 
 

 

   Σολωμού  29  Αθήνα         210.38.22.157          210.38.22.495 

   On-line Φροντιστήριο           www.arnos.gr              info@arnos.gr 

 
 
 

 

   1 

 

Θέμα 2                                                       GI_Α_GEO_2_6886 

 

Λύση: 

α)     B B 180


     άρα 2x x 180 3x 180 x 60
  

       

Επομένως  60


    και   60


   

 

β)    ˆBO B 120


     

γ) Η γωνία ΒΑΔ είναι εγγεγραμμένη στο B 120


   120 άρα 
BˆB 60
2


    

 

 

Επιμέλεια:  Βασίλης Γκιμίσης – MEd – Μαθηματικός 


